JL_

Division (International) with a Helper Grid

Name:

Solve each problem.

1) 600 : 5 = 2 685 : 5 =
3 903: 6 = 4 841 : 3 =
5 494 : 3 = 6) 856 : 8 =

Answers
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ﬂh Division (International) with a Helper Grid Name.Answer Key

Solve each problem. Answers
1) 600 : 5 =120 2 685 : 5 =137
1 120
-5 -5
10 8
-10 15 2. 137
00 35
3. 150r3
-0 -13'5
0 0 . 280r1
5. 164r2
6. 107
3 903: 6 =150r3 4 841 : 3 =280r1
-6 -6
30 24
-3/0 .24
03 01
-0 -0
3 1

5 494 : 3 =164r2 6) 856 : 8 =107
-3 -8
9 05
.18 -0
14 56
-l1/2 -'56
2 0
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